निविदा सूचना

(यूनिक बिड संख्या ....DLB2223WSQB15041.....)

www.urban.rajasthan.gov.in/mcjs पर देखी जा सकती है।

क्र. सं.	कार्य का नाम	अनु. लागत लाखों में	धरोहर <b>राशि</b>	निविदा शुल्क	कार्य पूर्ण करने की अवधि
01	Construction of interlocking work near adarsh school and various places in ward no. 6	3.16	6320/-	500/-	2 Month
02	नहर चौराहे के पास क्षतिग्रस्त सीवर लाईन के मरम्मत का कार्य	4.99	9980/-	500/-	2 Month
03	लटियाल माता मन्दिर के पास एवं हेमलता ज्वैलर्स के पास विकास कार्य	4.90	9800/-	500/-	2 Month

नोट :— (1) दरे चार माह तक मान्य होगी। (2) कार्य शुरू करने से पूर्व व कार्य पूर्ण करने के पश्चात् कार्य स्थल की फोटो / विडियोग्राफी सी०डी० आवश्यक रूप से प्रस्तुत करें। (3) सशर्त निविदा स्वीकार नहीं होगी। (4) दोष निवारण अविध नियमानुसार होगी। (5) धरोहर राशि के डिमाण्ड ड्राफ्ट की वैधता निविदा खोलने की तारीख से निविदा की वैधता अविध तक होनी अनिवार्य है अन्यथा निविदा कॉपी निरस्त की जा सकती है। (6) आयुक्त नगर निगम जोधपुर के आदेश कमांक 9836 दिनांक 7.2.2020 एवं 9975 दिनांक 14.7.2020 अनुसार पंजीयन रिव्यू आदेश के तहत निविदा स्वीकार / अस्वीकार की जायेगी। (7) श्रीमान निदेशक, स्वायत शासन विभाग, राजस्थान जयपुर के आदेश कमांक 144612—825 दिनांक 22.11.021 की पालना में वित विभाग की अधिसूचना आर.टी.पी.पी. नियम 2013 में Additional Performance Security के लिये नियम 75—ए के अनुसार Additional Performance Security जमा करवानी होगी।

(अरूण कुमार पुरोहित)

I.A.S.

आयुक्त

नगर निगम जोधपुर—दक्षिण

दिनांक:- 29 022

कमांकः – न.नि.जो. / चतुर्थ / दक्षिण / 2022–23/536 to 542 प्रतिलिपी :– सूचनार्थ एवं आवश्यक कार्यवाही हेतु।

1. श्रीमान जिला कलेक्टर महोदय, जोधपुर।

2. निदेशक / अधीक्षण अभियन्ता, स्थानीय निकाय विभाग, जयपुर।

अधीक्षण अभियन्ता / अधिशाषी अभियन्ता, सा.नि.वि. / जोधपुर विकास प्राधिकरण / नगर निगम जोधपुर।

4. सहायक लेखाधिकारी, जोधपुर नगर निगम ।

5. क्षेत्रीय समाचार पत्र दैनिक प्रतिनिधि को भेजकर लेख है कि उपरोक्त निविदा का नियमानुसार प्रकाशन करावें।

6. श्री रामेश्वर गहलोत, प्रोग्रामर नगर निगम जोधपुर दक्षिण को भेजकर लेख हैं कि एवं ई—निविदा सूचना (1) urban.rajasthan.gov.in/mcjs (2) sppp.rajasthan.gov.in पर अपलोड करें।

सूचना पट्ट जोधपुर नगर निगम उतर/दक्षिण।

2

आयुक्त नगर निगम जोधपुर–दक्षिण

## OFFICE OF THE NAGAR NIGAM, JODHPUR

r No. doto	G-3CHEDOLE
Γ No date st Date of Sale :-	Sr No.
te of Receipt :-	Earnest Money: Rs
ny issued to M/s	CR No Dated

ime of work- Construction of interlocking work near Adarsh School and various Places in ward

o.	Item	071/			ON RUIDP 2022
	Dismantling of flexible pavements and disposal of dismantled materials un	QTY	Unit	Rate	Amount
	to a lead of 50 metres as directed by Engineer.				
	Bituminous courses	38.5	cum	411.00	15823.5
	Granular courses	73.5	cum	286.50	
	Earth work in excavation for roadway, including trimming bottom and side slopes in accordance with requirement of line, grades and cross sections, including disposal of surplus material with all lift and lead upto 1000 metre as per MoRT&H specification clause 301. In all type of soil (near Adarsh School)	2			
	Raising precast circular manhole cover and frame by taking out existing precast frame and cover, providing and fixing precast SFRC circular spacer of required height, re-fixing existing manhole cover frame and cover with cement sand mortar (1:3), including making	98	cum	214.5	21021
	good the damage, complete as directed by Engineer.	2	NO	1828	3656
	Providing and laying lean cement concrete 1:4:8 in Sub- base over a prepared sub-grade with coarse and fine aggregate conforming to IS: 383, the size of coarse aggregate not exceeding 25 mm, aggregate cement ratio not to exceed 15:1, aggregate gradation after blending to be as per table 600-1, cement content not to be less than 150 kg/ cum, optimum moisture content to be determined during trial length construction, concrete strength not to be less than 10 Mpa at 7 days, mixed in concrete mixer, laid manualy, compacted with surface vibrator, finishing and curing complete as per clause 601, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.	73.5	Cum.	2755.00	202492.5
	Supplying & fixing 560mm dia SFRC manhole frame & cover as per IS: 12592-2002 in existing manholes including grouting the frame in PCC M-15 complete in all respect as directed by the Engineer. HD-20	. 6	each	2685	16110
	Providing and laying un-reinforced, dowel jointed, plain cement concrete mix With Concrete Mixer & vibrator pavement over a prepared sub base with 43 grade cement, coarse and fine aggregate conforming to IS: 383, maximum size of coarse aggregate not exceeding 25 mm, mixed as per approved mix design, laid, spread, compacted and finished in a continuous operation including provision of contraction, expansion, construction and longitudinal joints, joint filler, separation membrane, sealant primer, joint sealant, debonding strip, admixtures (if required) as approved, curing compound, finishing to lines and grades complete as per drawing and as per clause 602, 112 of MoRT&H specification including all material, labour, machinery, lighting, guarding and maintenance of diversion.PCC M-20	6.3	Cum.	5550.00	34965.00
		201			315125.75
		3.5		SAY RS	3.16 LAC

### Terms and Condition :-

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य रथल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3. जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य रथल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोप निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी

9 सशर्त निविदा स्वीकार नहीं होगी ।	
10 निष्पादन सुरक्षा राशि 10 प्रतिशत मय अनुबन्ध के जमा करान	। होगा

EXECUTIVE ENGINEER NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work @	Above/below the "G" Schedule
--	------------------------------

(Signature of Contractor)

# JODHPUR NAGAR NIGAM JODHPUR-SOUTH

NIT No data	
NIT No date	Sr No.
Date of Receipt :-	Earnest Money: Rs
Copy issued to M/s	CD M
N	•

Name of work:- नहर चौराहे के पास क्षतिग्रस्त सीवर लाईन के मरम्मत का कार्य

S.No	No.	Particulars	Otv	Unit	SED ON RU	Amount
1	R-2.10	dismantled materials up to a lead of 50 metres as directed by Engineer.			Nate	Amount
	2.10.1	a) Bitaminous courses	25.2	Cum	411.00	10057.00
2	R-4.3	b) Cianulai Courses		Cum	286.50	
_		Earth work in excavation in soil unsuitable for road construction such as marshy soil including pumping out water, removal of the same and disposal with all lift and lead upto 1 km as per MoRT&H specification clause 301.			, ,	10244.00
3	R-4.13	Forth fur	882.00	Cum	201.00	177282.00
3	1.13	Earth filling with available surplus soil excavated from foundations and taken only from outside of building plinth in layers not exceeding 20cm in depth, consolidating each deposited layer including ramming and watering and consolidation with lead up to 50 m and lift upto 1.5 m.		- Cum	201.00	177262.00
4	R-25 1 2	Donday	882.00	Cum	144.00	127008.00
	1 25.1.2	Random rubble masonry with hard stone in foundation and plinth : Cement mortar 1:4 (1 cement : 4 coarse sand)			144.00	127008.00
5 F		Cement plastering including T&P, scaffolding, material and complete labour, including cost of water, curing, racking of oints etc. with 20 mm cement plaster of mix: 1:4 (1 cement 4 fine/ coarse sand)	3.12	Cum	4530.00	14133.60
+	R- (		5.20	Sam	283.50	4.4= : = :
	1     ii	Stone work in plain ashlar in super structure upto floor five evel in cement mortar 1:6 (1 cement : 6 coarse sand) including pointing with cement mortar 1:2 (1 white cement : stone dust) with an admixture of pigment matching the tone shade : One face dressed. Red sand stone		4	203.30	1474.20
-	0.5.4		1.64	lum	37800.00	
N-	pa cc siz pe fin co joir sea app cor Mo	roviding and laying un-reinforced, dowel jointed, plain ement concrete mix With Concrete Mixer & vibrator exement over a prepared sub base with 43 grade cement, arse and fine aggregate conforming to IS: 383, maximum to of coarse aggregate not exceeding 25 mm, mixed as a rapproved mix design, laid, spread, compacted and ished in a continuous operation including provision of intraction, expansion, construction and longitudinal joints, and filler, separation membrane, sealant primer, joint filler, separation membrane, sealant primer, joint alant, debonding strip, admixtures (if required) as proved, curing compound, finishing to lines and grades inplete as per drawing and as per clause 602, 112 of RT&H specification including all material, labour, chinery, lighting, guarding and maintenance of diversion.			37800.00	61992.00
			1.20 C	um	5550.00	6660.00

	Item					
S.No	No.	Particulars	Qty.	Unit	Rate	Amount
8		Providing, laying and spreading of granular sub-base by providing coarse graded Material (Table 400-2), spreading in uniform layers with motor grader on prepared surface mixing BY MIX IN PLACE METHOD with rotavator at OMC and compacting with vibratory roller to achieve the desire density, complete as per MoRT&H specification clause 401 including all material, labour, machinery, lighting guarding and maintenance of diversion. Grading - Material	g e, c, d			
9	R-7.6	Description 1 1	18.90	Cum	1062.00	20071.80
	i r t v c	Providing, laying, spreading (with paver finisher only) and compacting wet mix macadam (WMM) base course comprising of graded stone aggregate and granular material conforming to MORT&H specifications (Table 400-II) in ayers of equal compacted thickness each consolidated including pre-mixing the material with water at OMC in mechanical mixer (Pug Mill), carriage of mixed material by ippers to site, laying in uniform layers in base course on a well prepared sub-base/ base course and compacting with sower vibratory-roller to achieve the desired density complete as per MoRT&H specification clause - 406 including all material, labour, machinery, lighting, guarding and maintenance of diversion.				
			37.80	Cum	1704.00	64411.20
- 4		otal				499634.55
	S	ay				4.00 1

#### **Terms and Condition:**

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- 3. जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य संम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना होगा।
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो / विडियोग्राफी सीडी आवश्यक रूप से कार्यालय में जमा कराने होंगें।
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।
- 10 निष्पादन सुरक्षा राशि 10 प्रतिशत मय अनुबन्ध के जमा कराना होगा ।

EXECUTIVE ENGINEER
NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule

(Signature of Contractor)

### JODHPUR NAGAR NIGAM JODHPUR

#### "G" SCHEDULE

0 00::2002	
NIT No date	Sr No.
Last Date of Sale :-	Earnest Money: Rs
Date of Receipt :-	CR No Dated
Copy issued to M/s	

	Nam	ie of work:- लटियाल माता मन्दिर के पास एवं हेमल				ार्य DP BSR 2022
	S.No	Particulars	Qt	/. Uni	t Rate	Amount
	1	Finishing walls with water proofing cement paint required shade: New work (Two or more coats appli @ 3.84 kg/10 sqm)	ed			
-	2	Pointing on stone work with cement mortar 1:3	/1 219	.42 Sqm	85.40	18738.47
L	_	cement : 3 fine sand) : Flush/ Ruled pointing	(1)			
		LS		00 Sqm	205.00	25625.00
	s	Distempering with oil bound washable distemper approved brand and manufacture to give an even hade New work (two or more coats) over and including riming coat with cement primer	en Ig			
_	4 P	& F 1st quality Vitrified Porcelain Polished tiles o	212.	59 Sqm	125.00	26573.75
	to les ap thic	por, skirting and steps etc.in different sizes (thickness be specified by manufacture) with water absorption is than 0.08% and conforming to IS 15622 of proved make in all colour and shade, laid with 20 mm ck CM 1: 4 including grouting the joints with white ment and matching pigment etc complete. Size 450 mm	s n f n			
		17/ 400 mm	54.7	8 Sqm	1435.00	78609.30
5	and rack	nent plastering including T&P, scaffolding, material complete labour, including cost of water, curing, ing of joints etc. with 20 mm cement plaster of mix: (1 cement: 4 fine/ coarse sand)				
			242.49	Sqm	283.50	68745.92
6	thick	iding and applying plaster of paris putty of 2 mm ness over plastered surface to prepare the surface and smooth complete				
1			212.59	Sqm	184.50	39222.86
7	mixer	ling and fixing C.P. brass angle valve for basin and geyser points of approved quality conforming 1931 15 mm nominal bore	3.00	Nos	509.00	1527.00
8		ing and fixing C.P. brass bib cock of approved	2.00	Nos	470.00	
9	quality	conforming to IS:8931 15 mm nominal bore.	3.00	NOS	473.50	1420.50
\r	wheel nominal		1.00	Nos	551.00	551.00
a	nd cla	ng and fixing G.I. pipes complete with G.I. fittings mps, including cutting and making good the c. Internal work - Exposed on wall 15 mm dia.				
no	ominal	bore	15.00	Mtr	242.50	3637.50
		and fixing PTMT grating of approved quality				
	nd colo n wast	ur. Circular type. 125 mm nominal dia with 25 e hole.	1.00	Nos	48.80	48.80

	Providing and fixing water closet squatting pan (India type W.C. pan) with 100mm sand cast Iron P or S trap 10 litre low level white P.V.C. flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete including cutting and making good the walls and floors wherever required: White Vitreous china Orissa pattern	o, n o			
		s			
	W.C. pan of size 580x440mm with integral type foo rests.	2.00	Nos	4775.00	9550.00
	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps,32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous China Wash basin size 550x400 mm with a pair of 15 mm C.P. brass pillar	f i :	Nos	2520.00	5040.00
14	taps.  Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete. Flexible pipe 40 mm dia		Nos	41.60	41.60
15 I	Providing and fixing PTMT Waste Coupling for wash pasin and sink, of approved quality and colour. Waste coupling 38mm of 83mm length and 77mm breadth, weighing not less than 60gms.		Nos	122.00	122.00
16 F	Providing and fixing PTMT pillar cock of approved quality and colour 15mm nominal bore, 107mm long.  Weighing not less than 110 gms.	1.00	Nos	242.00	242.00
17 F	Providing and fixing on wall face Unplasticised Rigid PVC Single socketed pipes rain water pipes conforming or IS: 13592 Type A including jointing with seal ring conforming to IS: 5382 leaving 10 mm gap for thermal				
18 F	expansion. 110 mm diameter Providing and fixing on wall face Unplasticised - PVC moulded fittings/ accessories for Unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A polyding jointing with seal ring conforming to IS: 5382	20.00	Mtr	303.00	6060.00
le	eaving 10 mm gap for thermal expansion.	10.00	Nos	175.00	1750.00
a	) Coupler, 110mm dia ) Single tee with door, 110mm dia	7.00		363.50	2544.50
	) Bend 87.5°, 110mm dia	7.00		158.00	1106.00
2.5	· · · · · · · · · · · · · · · · · · ·	4.00		357.50	1430.00
9 Ea	Shoe (Plain), 110mm dia enth work in excavation in soil unsuitable for road onstruction such as marshy soil including pumping out enter, removal of the same and disposal with all lift and ad upto 1 km as per MoRT&H specification clause	4.00	NOS		
	11.	70.27	Cum	201.00	14124.67
ba ag ag rat ble to cor mix sur clau	oviding and laying lean cement concrete 1:4:8 in Subse over a prepared sub-grade with coarse and fine gregate conforming to IS: 383, the size of coarse gregate not exceeding 25 mm, aggregate cement io not to exceed 15:1, aggregate gradation afterending to be as per table 600-1, cement content not be less than 150 kg/ cum, optimum moisture content be determined during trial length construction, acrete strength not to be less than 10 Mpa at 7 days, and in concrete mixer, laid manually, compacted with face vibrator, finishing and curing complete as per use 601, 112 of MoRT&H specification including all terial, labour, machinery, lighting, guarding and intenance of diversion.	17.57		2775.00	48756.75

S.No	Particulars	Qty.	Unit	Rate	Amount
21	Providing and fixing of 60mm thick precast cement concrete interlocking paver block casted with rubber moulds in approved reflective colour and design having minimum compressive strength of 300 kg/ sq cm. The CC paving blocks be laid on average 50mm thick bed of coarse sand and the joint is to be filled with fine sand. Laying procedure on compacted sub-base as defined. Complete job is to be executed as per the instruction of Engineer in charge. The rates to be inclusive of all lead & Lifts etc. complete as per specifications.			,	
	Qty. same as per item no. 19	175.68	Sqm	737.00	129476.16
¥	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded 20mm nominal size stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40mm thick			10.	
		13.28	Sqm	384.50	5106.16
	Total				490049.93
	Say				4.90 Lacs

#### Terms and Condition:-

- 1. सभी प्रकार के कर (टैक्स) संवेदक द्वारा ही वहन किये जायेगें।
- 2. कार्य स्थल पर श्रमिक व सामग्री की सुरक्षा की जिम्मेवारी संवेदक की होगी।
- जी.सारणी में वर्णित कार्यों के अतिरिक्त व अधिक कार्य संवेदक द्वारा दी गई दरों के आधार पर करवाये जा सकेंगे।
- 4.कार्य स्थल पर कार्य सम्बंधित सूचनाएं दर्शाने वाला बोर्ड संवेदक को स्वयं के स्तर पर लगाना
- 5.टंकण त्रुटी की अवस्था में सम्बन्धित रेट मान्य होगी।
- 6. कार्य करने से पुर्व एवं कार्य करने के पश्चात कार्य स्थल की फोटो/विडियोग्राफी सीडी आवश्यक
- 7. दोष निवारण अवधि नियमानुसार रहेगी ।
- 8. दरें 4 माह तक मान्य रहेगी
- 9 सशर्त निविदा स्वीकार नहीं होगी ।
- 10 निष्पादन सुरक्षा राशि 10 प्रतिशत मय अनुबन्ध के जमा कराना होगा ।

EXECUTIVE ENGINEER NAGAR NIGAM, JODHPUR.

I/We hereby agree to do the above work @ \_\_\_\_\_ Above/below the "G" Schedule

(Signature of Contractor)